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119:00 ~ 9:45| A|F«—AL—Fz vs TATEP)| EAAHD | B EZi vs SWE—(Q)| FCEE |c| BRI vs EME—W| IOF
21950 ~ 10:35|/ A| USS vs EHFEB) | TA7EP)|[B| #ALA) vs EM  [ERE—@|C| #*LB) vs EBEA) |ESmE—W)
3110:40 ~ 11:25| A | EAHD vs F—AL—7z| E5HFB) |B| FCEE vs EZi EH [C| ZF vs FHRII E&(A)
4 (11:30 ~ 12:15| A | T4 7EP) vs USS |F«—#1L—Fz| B |EWE—Q) vs £4LA) ZHE C|&EmE—W) vs £3L(B) F&N
5|12:20 ~ 13:05| A | E% F(B) vs 5 VYol Uss |B EH vs FCE% £3.(A) |C| BBWN vs F £4L(B)
6 |13:10 ~ 13:55| D| LAZO vs £E MFCE# [E| FvX vs DESAFIO| EBFC |F|T«47EF) vs E@ SHhEF
7|14:00 ~ 1445/ D| ZFJIIET vs EB&(C) E3 E EA vs L —7)L | DESAFIO | F | E43F(A) vs =K ]
8 [14:50 ~ 15:35| D | MFC&E#2 vs LAZO BEBC) |E| BEBFC vs FuyX —HIL | F| SehERE vs T17EF) =K
9 |15:40 ~ 16:25| D ®KE vs & )II#T LAZO |E|DESAFIO vs EA *FyX |F @ vs EoFA) | T47EF)
10{16:30 ~ 17:15| D | EB(C) vs MFCE# | FNIET [E| >—HL vs EB&FC EA F =K vs SHEFE | BaFA)
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118:30 ~ 9:.05| F| T47EF) vs EfNFA) | SHhER |D| LAZO vs ENET | MFCE#® |E| FvX vs & EBBFC
21910 ~ 945/ F & vs =K TAT7EF)|D ®E vs E&(C) LAZO | E | DESAFIO vs —HI FuX
3950 ~ 10:25 F [ B4 3F(A) vs IHhER @ D| #&JIHET vs MFCE# RE E EA vs E&FC | DESAFIO
4 [10:30 ~ 11:05| F | T4 7EF) vs =K E%FA) |D| LAZO vs E&(C) Fher |E| FuvX vs —=HI ]
5([11:10 ~ 11:45| F @ vs SHER =K D %5E vs MFCE# | ES(C) | E|DESAFIO Vs BEBFC | >—HIL
6 |11:50 ~ 12:25/ ¢ | F=)I vs £1L(8) PFE | AlF—Ar—Fz vs uss BEAhsh | B Zie vs £ 31L(A) FCE%E
7 [12:30 ~ 13:05| C [EHE—W) vs EEA) FEIN |A|T«47EP) vs E5FB) |Fr—t1—7Fz| B |HRE—(Q) vs EM Zie
8 [13:10 ~ 1345( Cc| #*L(B) vs PFE |ERE-—W[A| USSs vs B | T47EP) | B| FEALA) vs FCEE |[an%—(@
9 |13:50 ~ 1425/ G| F®II vs =410V £xB) [A|F—Fr—F= vs E2FB) uss B ZHE vs EH £1LA)
10/14:30 ~ 15:05| C |=#E—W) vs t cF 3 BEWQ) |A| T47EP) vs BEAhLh | B2F0) | B |[EHRE—Q) vs FCEE FE
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119:00 ~ 9:35| A |Fr—A1L—F= vs EWE— | O—HIL |c| BEW®) vs DESAFIO| {h&%LL
2 [9:45 ~ 10:20( A ZJIIHET(C) vs AL | BRE— |c| FEF vs iL#1L | DESAFIO
3[10:30 ~ 11:05| B| Z4>FE(A) vs 5= =K D Ze vs ] ES&FC
4 [11:15 ~ 11:50| A |[F+—#1—Fz vs —AI)L | FNEE) [C| EBA) vs LA EFEF)
5 (12:00 ~ 12:35| B | &JIIBT(M) vs = %5E D| &F&ET vs EBEBFC Em™
6 [12:45 ~ 13:20| A| BHAE— vs ZJIIET(C) | 7L K1)—| C | DESAFIO vs EFF) | ILURY—
7 [13:30 ~ 14.05| B| Z4F(A) vs =K ZFI)IEM) [ D Ze vs EBEBFC FET
8 [14:15 ~ 14:50| B £E vs FIBT(M) [ZL2RF—([ D E® Vs EF(T | ILURY—
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11900 ~ 935/ E| LAZO vs uss BWHRR |G| TA4TE Vs £1L(B) | ZPER)
2(9:45 ~ 1020 E| E#3F vs (oY NEEE S uss |G| MiEE®R vs ZRFER) | £4LB)
3[10:30 ~ 1105/ F| FwX vs £21LA) |BERR=—4 .
4 [11:15 ~ 1150 E| LAZO vs =Rtk | BaF |G| TA47E Vs ZPFER | MESR
5(12:00 ~ 12:35| F EM vs EESR=—% #3ILA) [G| #*LB) Vs MESR [ZLor)—
6 [12:45 ~ 13:20| E uss vs EnF |ILUF)— Vs
7(13:30 ~ 1405 F| FvX vs BER=—% E# Vs
8 [14:15 ~ 14:50| F| £%L(A) vs E® | ILoRY— vs
XEGRERUVESHEETILUF)—TUTF XESHBILTLUR)—TvF
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11830 ~ 905 A| BHAE— vs ZFJIIET(C) | >—7#JL | C| DESAFIO Vs EFHEEF) NI
2(9:10 ~ 9:45|B 5= vs FIIET(M) =K D ] vs FE) ES&FC
31950 ~ 10:25| A| BHWE— vs v—HIL |F«+—*1—Fz| C | DESAFIO Vs &1L E&A)
4{10:30 ~ 11:05| A |F4—H1L—Fz vs FIETC) | BE— |C| EBBEWA) vs &EF(F) | DESAFIO
5[11:10 ~ 11:45| B %RE vs =K ZXFEA (D ] Vs E&FC ZE
6 [11:50 ~ 12:25| B| Z4FEWA) vs EFIET(M) E D 2 vs FE) E®
7 |12:30 ~ 13:05| A |F4+—FL—F= vs —HIL [FLUR)—[Cc| EBEWM) vs ILEWL | ZLRY—
8 [13:10 ~ 13:45| B| Z44F(A) vs =K JLUR)—| D Zie Vs BE&FC |JLYRY—
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No| EIEEM g ?«Jﬁﬁﬁ%—h“ = T HEH—F =71
11830 ~ 9:.05|E uss vs EnsF | @lPR |G| #4LB) vs MESR | ZOFER)
2(9:10 ~ 945 F| Z£*LA) vs ZH |BERz=—4% -
31950 ~ 10:25| E USSs Vs =% /== LAZO G £1.(B) Vs CHER) FTFE
4 [10:30 ~ 11:05| E| LAZO vs EnF Uss |G| T«47% vs MESL | £3L0B)
5(11:10 ~ 11:45| F | #%L(A) vs BER=—4 FvX [G| T47%E Vs ZAOFER) | TLUR)—
6[11:50 ~ 1225 F| FwX vs EH £1L(A) Vs
7(12:30 ~ 13:05| E| LAZO vs St (JLok)— Vs
8[13:10 ~ 13:45| F| FwX vs BER=—4%[IJLUR— vs
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